

ON THE OSCILLATION OF CERTAIN NONLINEAR
ELLIPTIC DIFFERENTIAL EQUATIONS

Gui-Bing Ou¹, Rong-Kun Zhuang^{2§}

College of Science
Wuhan Textile University
Wuhan, 430073, P.R. CHINA
e-mail: gbouyang@sina.com
Department of Mathematics
Huizhou University
Huizhou, 516015, P.R. CHINA
e-mail: rkzhuang@163.com

Abstract: Using the integral average technique and a new function $H(r, s, l)$ defined in the sequel, some new oscillation criteria are obtained for second order elliptic differential equations with damping of the form

$$\nabla \cdot (A(x)\nabla y) + B^T(x)\nabla y + q(x)f(y) = 0, \quad x \in \Omega,$$

where Ω is an exterior domain in \mathbb{R}^N . The main results are of a high degree of generality than many previous results.

AMS Subject Classification: 35J60, 34C10

Key Words: nonlinear elliptic differential equation, second order, generalized partial Riccati transformation, oscillation

1. Introduction

In this paper, we consider the oscillation behavior of solutions to second order elliptic differential equations with damping of the form

$$\nabla \cdot (A(x)\nabla y) + B^T(x)\nabla y + q(x)f(y) = 0, \tag{1}$$

where $x = (x_1, x_2, \dots, x_N) \in \Omega(a_0) \subseteq \mathbb{R}^N$, $N \geq 2$, $\nabla = (\frac{\partial}{\partial x_1}, \frac{\partial}{\partial x_2}, \dots, \frac{\partial}{\partial x_N})$, $|x| = \left[\sum_{i=1}^N x_i^2 \right]^{1/2}$, $\Omega(a_0) = \{x \in \mathbb{R}^N : |x| \geq a_0\}$ for some $a_0 > 0$.

Received: January 12, 2011

© 2011 Academic Publications

§Correspondence author

In what follows, we always assume that:

(C₁) $A(x) = (A_{ij}(x))_{N \times N}$ is a real symmetric positive definite matrix function (ellipticity condition) with $A_{ij} \in C_{loc}^{1+\mu}(\Omega(a_0), \mathbb{R}), \mu \in (0, 1), i, j = 1, \dots, N$, $\lambda_{max}(x)$ denotes the largest (necessarily positive) eigenvalue of the matrix $A(x)$; there exists a function $\lambda \in C^1(\mathbb{R}^+, \mathbb{R}^+)$ such that

$$\lambda(r) \geq \max_{|x|=r} \lambda_{max}(x) \text{ for } r > 0;$$

(C₂) $b_i \in C_{loc}^\mu(\Omega, \mathbb{R}), \mu \in (0, 1), i = 1, \dots, N$;

(C₃) $q \in C_{loc}^\mu(\Omega(a_0), \mathbb{R}), \mu \in (0, 1)$ and $q(x) \not\equiv 0$ for $|x| \geq a_0$;

(C₄) $f \in C^1(\mathbb{R}, \mathbb{R}), yf(y) > 0$ and $f'(y) \geq k > 0$ for all $y \neq 0$ and some constant k .

A function $y \in C_{loc}^{2+\mu}(\Omega(a_0), \mathbb{R}), \mu \in (0, 1)$, is said to be a solution of equation (1) in $\Omega(a_0)$, if $y(x)$ satisfies equation (1) for all $x \in \Omega(a_0)$. For the existence of solutions of equation (1), we refer the reader to the monograph [1]. We restrict our attention only to the nontrivial solution $y(x)$ of equation (1), i.e., for any $a > a_0, \sup\{|y(x)| : |x| > a\} > 0$. A nontrivial solution $y(x)$ of equation (1) is called oscillatory if the zero set $\{x : y(x) = 0\}$ of $y(x)$ is unbounded, otherwise it is called nonoscillatory. equation (1) is called oscillatory if all its nontrivial solutions are oscillatory.

There are a great number of papers (see, for example, [2–8] and the references quoted therein) devoted to the particular cases of equation (1), including the following second order ordinary differential equations:

$$y''(t) + q(t)y(t) = 0, \tag{2}$$

$$(r(t)y'(t))' + q(t)f(y(t)) = 0, \tag{3}$$

$$(r(t)y'(t))' + p(t)y'(t) + q(t)f(y(t)) = 0. \tag{4}$$

In 1999, Kong [13] proved the following theorem.

Theorem A. *equation (2) is oscillatory provided that for each $l \geq t_0$, there exists $\alpha > 1$ such that*

$$\limsup_{t \rightarrow \infty} \frac{1}{t^{\alpha-1}} \int_l^t (s-l)^\alpha q(s) ds > \frac{\alpha^2}{4(\alpha-1)}, \tag{5}$$

and

$$\limsup_{t \rightarrow \infty} \frac{1}{t^{\alpha-1}} \int_l^t (t-s)^\alpha q(s) ds > \frac{\alpha^2}{4(\alpha-1)}. \tag{6}$$

In 2004, by using an new kernel function, Sun [15] proved the following new Kamenev-type theorem.

Theorem B. *equation (4) with $r(t) \equiv 1$ is oscillatory provided that for each $l \geq t_0$, there exists a constant $\alpha > 1/2$ such that*

$$\limsup_{t \rightarrow \infty} \frac{1}{t^{2\alpha+1}} \int_l^t (t-s)^{2\alpha}(s-l)^2 \left[4kq(s) - p^2(s) + 4\frac{t - (1 + \alpha)s + \alpha l}{(t-s)(s-l)}p(s) \right] ds > \frac{4\alpha}{(2\alpha - 1)(2\alpha + 1)}. \tag{7}$$

Some other similar results can be found in Sun [16], Dubé and Mingarelli [17], Yang [18].

For the semilinear elliptic equation

$$\nabla \cdot (A(x)\nabla y) + q(x)f(y) = 0, \tag{8}$$

Noussair and Swanson [10] first extended the Wintner theorem by using the following partial Riccati type transformation

$$W(x) = -\frac{\alpha(|x|)}{f(y(x))}(A\nabla y)(x), \tag{9}$$

where $\alpha \in C^2$ is an arbitrary positive function. Swanson [10] summarized the oscillation results for equation (8) up to 1979. For recent contributions, we refer the reader to Xu et al. [11, 12] and the reference therein.

This paper is motivated by [10, 12–15, 17, 18]. In section 2, by using an new kernel function $H(r, s, l)$, some oscillation criteria related to Euler integral for equation (1) are established for the case when $\frac{\partial b_i}{\partial x_i}$ does not exist for some i . Our results are extensions of the results of Kong [13], Li and Agarwal [14], Sun [15], and Yang [18].

In this work, we introduce the following two new real-valued functions which will be extensively used in the sequel.

Definition 1. Let $E_0 = \{(r, s, l) : r > s > l \geq a_0\}$ and $E = \{(r, s, l) : r \geq s \geq l \geq a_0\}$ and $H \in C^1(E, \mathbb{R})$. A real-valued function H is said to belong to Φ , denoted by $H \in \Phi$, if there exists a function $h \in C^1(E_0, \mathbb{R})$ satisfying the following conditions:

$$(H1) \quad H(r, r, l) = 0; H(r, l, l) = 0 \quad \text{on} \quad E, \text{ and } H(r, s, l) > 0 \text{ on } E_0.$$

(H2) $H(r, s, l)$ has a continuous partial derivative on D_0 with respect to the second variable, and there is a function $h \in C(E_0; \mathbb{R})$ such that

$$\frac{\partial H(r, s, l)}{\partial s} = h(r, s, l), \quad (r, s, l) \in E_0.$$

Definition 2. Let $D = \{(r, s) : r \geq s \geq a_0\}$, $D_0 = \{(r, s) : r > s > a_0\}$, H_1 and $H_2 \in C^1(D, \mathbb{R})$. A pair of real-valued functions (H_1, H_2) is said to belong to Ξ , denoted by $(H_1, H_2) \in \Xi$, if there exist functions h_1 and $h_2 \in C^1(D_0, \mathbb{R})$ satisfying the following conditions:

- (H1) $H_i(r, r) = 0$ for $r \geq a_0$ and $H_i(r, s) > 0$ on D_0 for $i = 1, 2$;
- (H2) $\frac{\partial H_1(r, s)}{\partial s} = -h_1(r, s), \forall (r, s) \in D_0$;
- (H3) $\frac{\partial H_2(s, l)}{\partial s} = h_2(s, l), \forall (s, l) \in D_0$.

2. Main Results

For simplicity, we define the functions ρ, Q and g as follows: For any given function $\eta \in C^1([a_0, +\infty), \mathbb{R})$, let

$$\rho(r) = \exp \left[- \int_{a_0}^r \frac{k\eta(s)s^{1-N}}{\omega} ds \right],$$

$$Q(r) = \rho(r) \times \left\{ \int_{S_r} \left[q(x) - \frac{1}{2k} \lambda(x) |B^T A^{-1}|^2 \right] d\sigma + \frac{k}{2\omega} \lambda(r) \eta^2(r) r^{1-N} - [\lambda(r) \eta(r)]' \right\},$$

$$g(r) = \frac{2\omega}{k} \lambda(r) \rho(r) r^{N-1},$$

where $S_r = \{x \in \mathbb{R}^N : |x| = r\}$, $r > 0$, $B^T = (b_1(x), \dots, b_N(x))$, $d\sigma$ denotes the spherical integral element in \mathbb{R}^N , ω is the area of unit sphere in \mathbb{R}^N and k is defined in (C_4) .

We begin with the following lemma, the proof of this lemma is easy and thus omitted.

Lemma A. For two n -dimensional vectors $u, v \in \mathbb{R}^N$, and a positive constant c , then

$$cuu^T + uv^T \geq \frac{c}{2}uu^T - \frac{1}{2c}vv^T. \tag{10}$$

Theorem 2.1. Equation (1) is oscillatory provided that for each $l \geq a_0$, there exist a function $\eta \in C^1([a_0, +\infty), \mathbb{R})$ and a function $H \in \Phi$ such that

$$\limsup_{r \rightarrow \infty} \int_l^r \left[H(r, s, l)Q(s) - \frac{1}{4} \frac{g(s)h^2(r, s, l)}{H(r, s, l)} \right] ds > 0. \tag{11}$$

Proof. Suppose to the contrary that there exists a solution $y(x)$ of equation (1) such that $y(x) > 0$ for $|x| \geq a_1 \geq a$. Define

$$W(x) = \frac{1}{f(y)}(A\nabla y)(x), \quad x \in G[a_1, \infty) \tag{12}$$

and

$$V(r) = \rho(r) \left[\int_{S_r} W(x) \cdot \gamma(x) d\sigma + \lambda(r)\eta(r) \right], \quad x \in G[a_1, \infty), \tag{13}$$

where ∇y denotes the gradient of $y(x)$, $\gamma(x) = \frac{x}{|x|}$, $|x| \neq 0$ is the outward unit normal to S_r .

From equation (1) and (12), it follows that

$$\begin{aligned} \nabla \cdot W(x) &= -\frac{f'(y)}{f^2(y)}(\nabla y)^T A \nabla y - \frac{1}{f(y)}[q(x)f(y) + B^T \nabla y] \\ &\leq -kW^T A^{-1}W - q(x) - B^T A^{-1}W \\ &= -kW^T A^{-1}W - q(x) + B^T A^{-1}W \\ &\leq -\frac{k}{\lambda(x)}W^T W - q(x) + B^T A^{-1}W \quad (\text{by Lemma A}) \\ &\leq -\frac{k}{2\lambda(x)}|W|^2 + \frac{1}{2k}\lambda(x)|B^T A^{-1}|^2 - q(x). \end{aligned} \tag{14}$$

Using Green's formula in (13), we get

$$\begin{aligned} V'(r) &= \frac{\rho'(r)}{\rho(r)}V(r) + \rho(r) \left\{ \int_{S_r} \operatorname{div} W(x) d\sigma + [\lambda(r)\eta(r)]' \right\} \\ &\leq \frac{\rho'(r)}{\rho(r)}V(r) - \rho(r) \frac{k}{2\lambda(r)} \int_{S_r} |W|^2 d\sigma \\ &\quad - \rho(r) \left\{ \int_{S_r} \left[q(x) - \frac{1}{2k}\lambda(x)|B^T A^{-1}|^2 \right] d\sigma - [\lambda(r)\eta(r)]' \right\}. \end{aligned} \tag{15}$$

In view of (C_1) , we have $(W^T A^{-1} W)(x) \geq \lambda_{max}^{-1}(x)|W(x)|^2$. Then, by Cauchy-Schwartz inequality, we obtain

$$\int_{S_r} |W(x)|^2 d\sigma \geq \frac{r^{1-N}}{\omega} \left[\int_{S_r} W(x) \cdot \gamma(x) d\sigma \right]^2.$$

Moreover, by (13) and (15), we get

$$\begin{aligned} V'(r) &\leq \frac{\rho'(r)}{\rho(r)} V(r) - \frac{k\rho(r)r^{1-N}}{2\omega\lambda(r)} \left[\int_{S_r} W(x)\gamma(x) d\sigma \right]^2 \\ &\quad - \rho(r) \left\{ \int_{S_r} \left[q(x) - \frac{1}{2k} \lambda(x) |B^T A^{-1}|^2 \right] d\sigma - [\lambda(r)\eta(r)]' \right\} \\ &= \frac{\rho'(r)}{\rho(r)} V(r) - \frac{k\rho(r)r^{1-N}}{2\omega\lambda(r)} \left[\frac{V(r)}{\rho(r)} - \lambda(r)\eta(r) \right]^2 \\ &\quad - \rho(r) \left\{ \int_{S_r} \left[q(x) - \frac{1}{2k} \lambda(x) |B^T A^{-1}|^2 \right] d\sigma - [\lambda(r)\eta(r)]' \right\} \\ &= -Q(r) - \frac{1}{g(r)} V^2(r). \end{aligned} \tag{16}$$

Multiplying (16), with r replaced by s , by $H(r, s, l)$ and integrating from l to r ($r \geq l \geq a_1$), after simple computation, gives

$$\begin{aligned} \int_l^r H(r, s, l) Q(s) ds &\leq - \int_l^r H(r, s, l) V'(s) ds - \int_l^r \frac{H(r, s, l)}{g(s)} V^2(s) ds \\ &= \int_l^r h(r, s, l) V(s) ds - \int_l^r \frac{H(r, s, l)}{g(s)} V^2(s) ds \\ &\leq \int_l^r \frac{1}{4} \frac{g(s) h^2(r, s, l)}{H(r, s, l)} ds \end{aligned}$$

which implies that

$$\int_l^r \left[H(r, s, l) Q(s) - \frac{1}{4} \frac{g(s) h^2(r, s, l)}{H(r, s, l)} \right] ds \leq 0, \quad r \geq l \geq a_1$$

This contradicts the assumption (11). Hence equation (1) is oscillatory. The proof is complete.

Choose $H(r, s, l) = H_1(r, s)H_2(s, l)$ where $(H_1, H_2) \in \Xi$ in Theorem 2.1, by the simple computation, we have the following theorems.

Theorem 2.2. *Equation (1) is oscillatory provided that for each $l \geq a_0$, there exist a function $\eta \in C^1([a_0, +\infty), \mathbb{R})$ and functions $(H_1, H_2) \in \Xi$ such*

that

$$\limsup_{r \rightarrow \infty} \int_l^r H_1(r, s)H_2(s, l) \left\{ Q(s) - \frac{1}{4}g(s) \left[-\frac{h_1(r, s)}{H_1(r, s)} + \frac{h_2(s, l)}{H_2(s, l)} \right]^2 \right\} ds > 0. \tag{17}$$

If we choose $H_1(r, s) = (r - s)^\alpha, H_2(s, l) = (s - l)^\beta$, for $\alpha, \beta > 1$, by Theorem 2.2, we have the following oscillation result.

Theorem 2.3. *Equation (1) is oscillatory provided that for each $l \geq a_0$, there exist a function $\eta \in C^1([a_0, +\infty), \mathbb{R})$ and two constants $\alpha, \beta > 1$ such that*

$$\limsup_{r \rightarrow \infty} \int_l^r (r - s)^\alpha (s - l)^\beta \left[Q(s) - g(s) \frac{[\beta r - (\alpha + \beta)s + \alpha l]^2}{4(r - s)^2 (s - l)^2} \right] ds > 0. \tag{18}$$

Define

$$R(r) = \int_{a_0}^r \frac{1}{g(s)} ds, \quad r \geq a_0.$$

Let $H_1(r, s) = [R(r) - R(s)]^\alpha, H_2(s, l) = [R(s) - R(l)]^\beta$ for $\alpha, \beta > 1$, then by Theorem 2.2, we have the following oscillation result.

Theorem 2.4. *Equation (1) is oscillatory provided that for each $l \geq a_0$, there exist two constants $\alpha, \beta > 1$, such that*

$$\limsup_{r \rightarrow \infty} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta \left[Q(s) - \frac{[\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2}{4g(s)[R(r) - R(s)]^2 [R(s) - R(l)]^2} \right] ds > 0. \tag{19}$$

By Theorem 2.4, we have the following theorem.

Theorem 2.5. *Assume that $\lim_{r \rightarrow \infty} R(r) = \infty$. Then equation (1) is oscillatory provided that for each $l \geq a_0$, there exist two constants $\alpha, \beta > 1$ such that*

$$\begin{aligned} & \limsup_{r \rightarrow \infty} \frac{1}{R^{\alpha+\beta-1}(r)} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta Q(s) ds \\ & > \alpha\beta(\alpha + \beta - 2) \frac{\Gamma(\beta - 1)\Gamma(\alpha - 1)}{4\Gamma(\alpha + \beta)}, \end{aligned} \tag{20}$$

where the Γ is the usual gamma function.

Proof. Note that

$$\begin{aligned}
 & \int_l^r [R(r) - R(s)]^{\alpha-2} [R(s) - R(l)]^{\beta-2} [\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2 \frac{1}{g(s)} ds \\
 &= \int_l^r [R(r) - R(s)]^{\alpha-2} [R(s) - R(l)]^{\beta-2} \left[\beta [R(r) - R(s)] - \alpha [R(s) - R(l)] \right]^2 dR(s) \\
 &= \int_0^{R(r)-R(l)} u^{\beta-2} [R(r) - R(l) - u]^{\alpha-2} \left[\beta [R(r) - R(l) - u] - \alpha u \right]^2 du \\
 &= \int_0^v u^{\beta-2} (v - u)^{\alpha-2} [\beta(v - u) - \alpha u]^2 du = \beta^2 \int_0^v u^{\beta-2} (v - u)^\alpha du \\
 &\quad - 2\alpha\beta \int_0^v u^{\beta-1} (v - u)^{\alpha-1} du + \alpha^2 \int_0^v u^\beta (v - u)^{\alpha-2} du. \tag{21}
 \end{aligned}$$

by setting $u = R(s) - R(a_i)$ and $v = R(b_i) - R(a_i)$. Using the following Euler’s Beta function

$$\int_0^1 x^{\mu-1} (1 - x)^{\nu-1} dx = \frac{\Gamma(\mu)\Gamma(\nu)}{\Gamma(\mu + \nu)}. \quad \text{Re}(\mu, \nu) > 0$$

we have by setting $x = \frac{u}{v}$,

$$\begin{aligned}
 \int_0^v u^{\beta-2} (v - u)^\alpha du &= v^{\alpha+\beta-1} \frac{\Gamma(\beta - 1)\Gamma(\alpha + 1)}{\Gamma(\alpha + \beta)} \\
 \int_0^v u^{\beta-1} (v - u)^{\alpha-1} du &= v^{\alpha+\beta-1} \frac{\Gamma(\beta)\Gamma(\alpha)}{\Gamma(\alpha + \beta)}. \\
 \int_0^v u^\beta (v - u)^{\alpha-2} du &= v^{\alpha+\beta-1} \frac{\Gamma(\beta + 1)\Gamma(\alpha - 1)}{\Gamma(\alpha + \beta)}.
 \end{aligned}$$

Thus,

$$\begin{aligned}
 & \int_0^v u^{\beta-2} (v - u)^{\alpha-2} [\beta(v - u) - \alpha u]^2 du \\
 &= \beta^2 v^{\alpha+\beta-1} \frac{\Gamma(\beta - 1)\Gamma(\alpha + 1)}{\Gamma(\alpha + \beta)} - 2\alpha\beta v^{\alpha+\beta-1} \frac{\Gamma(\beta)\Gamma(\alpha)}{\Gamma(\alpha + \beta)} \\
 &\quad + \alpha^2 v^{\alpha+\beta-1} \frac{\Gamma(\beta + 1)\Gamma(\alpha - 1)}{\Gamma(\alpha + \beta)} \\
 &= \frac{v^{\alpha+\beta-1}}{\Gamma(\alpha + \beta)} \left[\beta^2 \Gamma(\beta - 1)\Gamma(\alpha + 1) - 2\alpha\beta \Gamma(\beta)\Gamma(\alpha) + \alpha^2 \Gamma(\beta + 1)\Gamma(\alpha - 1) \right] \\
 &= \frac{v^{\alpha+\beta-1}}{\Gamma(\alpha + \beta)} \left[\beta^2 \alpha(\alpha - 1)\Gamma(\beta - 1)\Gamma(\alpha - 1) \right]
 \end{aligned}$$

$$\begin{aligned}
 & \left. -2\alpha(\alpha - 1)\beta(\beta - 1)\Gamma(\beta - 1)\Gamma(\alpha - 1) + \alpha^2\beta(\beta - 1)\Gamma(\beta - 1)\Gamma(\alpha - 1) \right] \\
 &= \frac{v^{\alpha+\beta-1}\Gamma(\beta - 1)\Gamma(\alpha - 1)}{\Gamma(\alpha + \beta)}\alpha\beta[\beta(\alpha - 1) - 2(\alpha - 1)(\beta - 1) + \alpha(\beta - 1)] \\
 &= \alpha\beta(\alpha + \beta - 2)\frac{\Gamma(\alpha - 1)\Gamma(\beta - 1)}{\Gamma(\alpha + \beta)}v^{\alpha+\beta-1}. \tag{22}
 \end{aligned}$$

Substituting back in for $v = R(r) - R(l)$, and in view of (21) and (22), we have

$$\begin{aligned}
 & \int_l^r [R(r) - R(s)]^{\alpha-2}[R(s) - R(l)]^{\beta-2}[\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2 \frac{1}{g(s)} ds \\
 &= \alpha\beta(\alpha + \beta - 2)\frac{\Gamma(\alpha - 1)\Gamma(\beta - 1)}{\Gamma(\alpha + \beta)}[R(r) - R(l)]^{\alpha+\beta-1}. \tag{23}
 \end{aligned}$$

So we have that

$$\begin{aligned}
 & \limsup_{r \rightarrow \infty} \frac{1}{R^{\alpha+\beta-1}(r)} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta \\
 & \quad \times \left[Q(s) - \frac{[\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2}{4g(s)[R(r) - R(s)]^2 [R(s) - R(l)]^2} \right] ds \\
 &= \limsup_{t \rightarrow \infty} \frac{1}{R^{\alpha+\beta-1}(r)} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta Q(s) \\
 & \quad - \limsup_{r \rightarrow \infty} \frac{1}{4R^{\alpha+\beta-1}(r)} \int_l^r [R(r) - R(s)]^{\alpha-2} [R(s) - R(l)]^{\beta-2} \\
 & \quad \quad \times [\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2 \frac{1}{g(s)} ds \\
 &= \limsup_{t \rightarrow \infty} \frac{1}{R^{\alpha+\beta-1}(t)} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta Q(s) ds \\
 & \quad - \alpha\beta(\alpha + \beta - 2)\frac{\Gamma(\beta - 1)\Gamma(\alpha - 1)}{4\Gamma(\alpha + \beta)}. \tag{24}
 \end{aligned}$$

From (20) and (24), we obtain

$$\begin{aligned}
 & \limsup_{r \rightarrow \infty} \int_l^r [R(r) - R(s)]^\alpha [R(s) - R(l)]^\beta \\
 & \quad \times \left[Q(s) - \frac{[\beta R(r) - (\alpha + \beta)R(s) + \alpha R(l)]^2}{4g(s)[R(r) - R(s)]^2 [R(s) - R(l)]^2} \right] ds > 0.
 \end{aligned}$$

Hence, equation (1) is oscillatory by Theorem 2.4. This completes the proof of Theorem 2.5.

From Theorems 2.5, we have the following Corollaries.

Corollary 2.1. *Assume that $\lim_{r \rightarrow \infty} R(r) = \infty$. Then equation (1) is oscillatory provided that for each $l \geq a_0$, there exists a constant $\alpha > \frac{1}{2}$ such that*

$$\limsup_{r \rightarrow \infty} \frac{1}{R^{2\alpha+1}(r)} \int_l^r [R(r) - R(s)]^{2\alpha} [R(s) - R(l)]^2 Q(s) ds > \frac{\alpha}{(2\alpha - 1)(2\alpha + 1)}. \tag{25}$$

Proof. Replaced α, β by 2α and 2 , respectively, in (20), we obtain

$$\begin{aligned} &\limsup_{r \rightarrow \infty} \frac{1}{R^{2\alpha+1}(r)} \int_l^r [R(r) - R(s)]^{2\alpha} [R(s) - R(l)]^2 Q(s) ds \\ &> (2\alpha)2(2\alpha + 2 - 2) \frac{\Gamma(2 - 1)\Gamma(2\alpha - 1)}{4\Gamma(2\alpha + 2)} \\ &= \frac{\alpha(2\alpha)\Gamma(1)\Gamma(2\alpha - 1)}{(2\alpha + 1)(2\alpha)(2\alpha - 1)\Gamma(2\alpha - 1)} \\ &= \frac{\alpha}{(2\alpha - 1)(2\alpha + 1)}. \end{aligned} \tag{26}$$

Corollary 2.2. *Assume that $\lim_{r \rightarrow \infty} R(r) = \infty$. Then equation (1) is oscillatory provided that for each $l \geq a_0$, there exists a constant $\beta > \frac{1}{2}$ such that*

$$\limsup_{r \rightarrow \infty} \frac{1}{R^{2\beta+1}(r)} \int_l^r [R(r) - R(s)]^2 [R(s) - R(l)]^{2\beta} Q(s) ds > \frac{\beta}{(2\beta - 1)(2\beta + 1)}. \tag{27}$$

Example 2.1. Consider equation (1) with

$$\begin{aligned} A &= \text{diag} \left(\frac{1}{r}, \frac{1}{r} \right), \quad B^T = \left(\frac{|\sin r|}{r}, \frac{|\cos r|}{r} \right), \\ q(x) &= \frac{\gamma - 12\pi^2 \ln^2 r + 4\pi^2 r^2 \ln^2 r}{8\pi^2 r^3 \ln^2 r}, \quad f(y) = y + y^5. \end{aligned}$$

where $r = \sqrt{x_1^2 + x_2^2}, r \geq 1, N = 2, k = 1$.

Let $\eta = 2\pi$. A straightforward computation yields, for $r \geq 1$

$$g_2(r) = \frac{4\pi}{r}, \quad R_2(r) = 4\pi \ln r, \quad Q_2(r) = \frac{\gamma}{4\pi r \ln^2 r}.$$

Hance

$$\begin{aligned} \limsup_{r \rightarrow \infty} \frac{1}{R_2^{2\beta+1}(r)} \int_l^r [R_2(r) - R_2(s)]^2 [R_2(s) - R_2(l)]^{2\beta} Q_2(s) ds \\ = \gamma \limsup_{r \rightarrow \infty} \frac{1}{(\ln r)^{2\beta+1}} \int_l^r [\ln r - \ln s]^2 [\ln s - \ln l]^{2\beta} \frac{1}{s \ln^2 s} ds \\ = \frac{\gamma}{\beta(2\beta + 1)(2\beta - 1)} \end{aligned}$$

Then for any $\gamma > \frac{1}{4}$, there exists a constant $\beta > \frac{1}{2}$, such that $\frac{\gamma}{\beta(2\beta+1)(2\beta-1)} > \frac{\beta}{(2\beta-1)(2\beta+1)}$. i.e., (27) holds, By Corollary 2.2, equation (1) is oscillatory when $\gamma > \frac{1}{4}$.

Remark 2.1. If the assumption (C_4) is replaced by

$$\frac{f(y)}{y} \geq k > 0, \quad y \neq 0,$$

then we can obtain the same results when $q(x) \geq 0, x \in \Omega \subset R^N$.

Remark 2.2. Theorems 2.3-2.5 and Corollaries 2.1 and 2.2 are new because we introduced a new class of kernel functions $H(r, s, l)$ which is basically a product $H_1(r, s)H_2(s, l)$ for a kernel $H_i(r, s) (i = 1, 2)$ of Philos type.

Remark 2.3. From Theorems 2.1-2.5, we can present different explicit sufficient conditions for the oscillation of the solutions to equation (1) by appropriate choice of $H(r, s, l)$, $(H_1, H_2) \in \Xi$ and $\eta(s)$. For instance, if we choose $H(r, s, l) = H_1(r, s)H_2(s, l)$ where $H_1(r, s) = (r-s)^\alpha, H_2(s, l) = (s-l)^\beta, H_1(r, s) = [R(r)-R(s)]^\alpha, H_2(s, l) = [R(s)-R(l)]^\beta$, or $H_1(r, s) = [\log Q(r)/Q(s)]^\alpha, H_2(s, l) = [\log Q(s)/Q(l)]^\beta$, or $H_1(r, s) = [\int_s^r dz/w(z)]^\alpha, H_2(s, l) = [\int_l^s dz/w(z)]^\beta$, or $H_1(r, s) = \rho(r-s), H_2(s, l) = \rho(s-l)$ etc., for $r \geq s \geq a_0$, where $\alpha > 1, \beta > 1$ are constants, $R(r) = \int_{a_0}^r ds/u(s), Q(r) = \int_r^\infty ds/u(s) < \infty$, for $r \geq a_0, w \in C([a_0, \infty), (0, 1))$ satisfying $\int_{a_0}^\infty \frac{1}{w(z)} dz = \infty, \rho(0) > 0, \rho(u) > 0$ and $\rho'(u) \geq 0$ for $u > 0$.

Acknowledgments

Supported by NSF of Guangdong Province of P.R. China (10151601501000003).

References

- [1] D. Gilbag, N.S. Trudinger, *Elliptic Partial Differential Equations of Second Order*, Springer-Verlag, New York (1983).
- [2] A. Wintner, A criterion of oscillatory stability, *Quart. J. Appl. Math.*, **7** (1949), 115-117.
- [3] W.B. Fite, Concerning the zeros of the solutions of certain differential equations, *Trans. Amer. Math. Soc.*, **19** (1918), 341-352.
- [4] W. Leighton, The detection of oscillation of solution of second-order linear differential equation, *Duke Math. J.*, **17** (1950), 57-62.
- [5] P. Hartman, On nonoscillatory linear differential equations of second order, *Amer. J. Math.*, **74** (1952), 389-400.
- [6] I.V. Kamenev, An integral criterion for oscillation of linear differential equations of second order, *Mat. Zametki*, **23** (1978), 249-251.
- [7] J. Yan, Oscillation theorems for second order linear differential equations with damping, *Proc. Amer. Math. Soc.*, **98** (1986), 276-282.
- [8] Ch. G. Philos, Oscillation theorems for linear differential equations of second order, *Arch. Math.*, Basel, **53** (1989), 483-492.
- [9] E.S. Noussair, C.A. Swanson, Oscillation of semilinear elliptic inequalities by Riccati transformation, *Canada J. Math.*, **32** (1980), 908-923.
- [10] C.A. Swanson, Semilinear second order elliptic oscillation, *Canada Math. Bull.*, **22** (1979), 139-157.
- [11] Z.T. Xu, B.G. Jia, D.K. Ma, Oscillation theorem for elliptic equations with damping, *Appl. Math. Comput.*, **156** (2004), 93-106.
- [12] Z.T. Xu, The oscillatory behavior of second order nonlinear elliptic equations, *Electronic Journal of Qualitative Theory of Differential Equations*, **8** (2005), 1-11.

- [13] Q. Kong, Interval criteria for oscillation of second order linear differential equations, *J. Math. Anal. Appl.*, **229** (1999), 258-270.
- [14] W.T. Li, R.P. Agarwal, Interval oscillation criteria for second order nonlinear differential equations with damping, *Computers Math. Applic.*, **40** (2000), 217-230.
- [15] Y.G. Sun, New Kamenev-type Oscillation criteria for second-order nonlinear differential equations with damping, *J. Math. Anal. Appl.*, **291** (2004), 341-351.
- [16] Y.G. Sun, New Kamenev-type theorems for second-order linear matrix differential systems, *Applied Mathematics Letters*, **17** (2004), 875-880
- [17] S.G.A. Dubé, A.B. Mingarelli, Nonlinear functions and a theorem of Sun, *J. Math. Anal. Appl.*, **308** (2005), 208-220.
- [18] Q.G. Yang, On the oscillation of certain nonlinear neutral partial differential equations, *Applied Mathematics Letters*, **20**, No. 8 (2007), 900-907.

288